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Number the Candidate
Time : 2 Hours Total Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet,
Fioh eTrom FRokoeD Deoct DMRﬂmap:mﬁiwmmwmﬁ.

SECTION—I : MATHEMATICS

1. The LCM of the numbers 27 x 3% x 7 and 29 x 3% x 11 is

27 x 3% x 7 o8 2% x 3% x 11 Dok, B0, errsresesseareres
iy 2?¥x3? (21 27 =3 3 2T=x3%x7x11 9 2¥x3tx7x11

2. The number of rational numbers exist between any two distinct rational numbers is
Botiy Dy wstrlad Somgw Hagy dol wstdan Sopw Sowy
(1) 0 2 1 3 2 ©(4) infinite (wRotm)

3. The prime factorization of 163800 is
163800 &, BTy JFPS BED werersssensieses

1) 22 x3% x55x7x13 2) 22 x32x52x7x13
i3) 2% x3?%5% x7x13 (4) Mone (95 me)
1 1

+ =
logx xy logy xy

(1 o 21 1 @ -1 4 2

5. If logyn 3= 0:477], then the value of log15+log2=
logyp 3= 0-4771 wosds log15+log2 Suss =
i1} 4771 2) 14771 (3) 477 {4) 04771
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6. 1fA={L234 5 and B=14,5 6 7), then A- B=
A=(234 5 B={%056 Tjeah A-B=

(1] {4, 5} (2 6.7 3 i,2,3 M L&34567

7. Among the following, a null set is (where N is the set of natural numbein)

To (2o Tuld’ wpsg Sod (gRe N ol Siee Some S0bd)

1) (x:x<5and xe N} 2) fx:x?=4, xe N
{2 x< b 2bdy xe N}
3) (x:x%2+1=0xe N (4] {x:x is even prime}
{x:x B0 B Sogg|

8.1f ACE, then A-B=
AC Bucws A= Baob?

(1 B @ o @ A (4) B-A

9. The length of a rectangular dining hall is twice of its breadth. If x represents the breadth of
the hall and its area is 5 8q. units, then the polynomial equation which represents the
situation is

By wsotPTop MO 3 o0 Diopt Ddoy. M8 Jdoy x wbdin Prugo 5 BEGY drls cou B
ity BrDets Stusteon

(1 sx2-2=0 2) 2x?-5=0 3 x?-25=0 {4) None (b8 mo)

10. The sum of the zeros of the polynomial p{xll=x2 +Tx+10is
plx) = x* +7x + 10 ook, orodh WRe ool
ny 7 2) -7 (3] 10 4 -10

11.If p(x) =2x? +3x -5, then p2) =
p{x}=2x2+3x—5uan:apmau::':.
1) 2 (2) 9 (3) © 4) -5
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12. Which of the following is not a linear equation?

e |30 st s Boure shodtmas moa DAY

(1) S5+4x=y+3 (2) x+2y=y-x (3) 3—.1.'-y2+4 4 x+w=0

13. The solution set {x, y} of the system of equations x-2y=0 and 3x+4y=20is
x =2y = 035000 3x + 4y =20 o s 508 x, y] =

1 &4 2) 2} 3 12 &

14. The two lines 3x+2y—80=0 and 4x+3y-110=0 are
Bods Spen 3x + 2y - BO = 0 Solcts 4x + 3y - 110 = O e 20dot0 stitdpes

[1) coincident lines (2) parallel lines
Dot Bpes SaroBy dpo
(3) intersecting lines {(4) None
potsh e T

15. The perimeter of a rectangular plot is 32 m. If the length [ is increased by 2 m and
the breadth b is decreased by 1 m, the area of the plot remains the same. Then the values
of ! and b are respectively

¥ By Sy gets SugSed 32 D o Dep T 2 D Bod, ey, B 1 D slese of

s’ O Sriy 85 augretor dotits, soms & Feie gy T Sedas Atey b ey BT
(1) 6m, 10m (2) 10m, 6m (3) 10m, 10m (4} 6m, 6m
65, 10 B 105, 6 & 10 s, 10 2o 6 &y, 65

16. The solution of the equations **Y pand * ¥osis
xy k=’

XY _q x-y _ -
Y Yy
o {54 @ {3} SR TEy B ¢
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lT.Theruotaof—l—-—l-:—llm
x+4 x=-T7 30
1 1 11
= — Gy, S
x+4 x-T7 30
y -1, 2 2] 1, 2 3 1,-2 [+ -1, 2

1B. if A is the solution set of x° - Sx+6=0and B is the solution set of x - y3x -6 =2, then
ArnB=

x% - 5x+6 =0 Dl D5 M3 Ameddis x - J3x -6 =2 dioy, DS 323 Boo AnB=

(1) @ 2 A i3 B = {2

19. If o and B are the roots of ax? + bx+c=0, thena? +p3 =

ax2+bx+c-0:i!.n§h‘.h:r'mm,ﬂm mus+ﬂa=

3abe- b3 3abe - &7 b? - 3abe b2 - 3abe
= @ == @ — (4)
[ a

0]

20. The equation whose roots are obtained by adding 1 to those of 2x? +3x+5=01is
2x% +3x + 5 = 0 3hose Saroei 18 EPASE 3 Sepe Sarcem Ko 3 MR

(1) 2x®-x-4=0 (2) 2x?+x-4=0 (3) 2x”-x+4=0 (4) None (350 »m)

21. The number of numbers between 100 and 1000 which are divisible by 7 is
100 02 1000 © Wy 7 3 xﬁ;am Pioaed woin Hepy

i 7 2) 128 (3) 13z (4) None (58 wi)

22. The least value of n for which 142+ 2% +--- |n terms) is greater than 1000 is
142427 4. (n 30w) Jutte 1000 2of My do D™ n Sk, K Tesd

1y 7 2) & (3 9 (4 10
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23. If the roots of n:r[b—.-.:lx2 +blc-a)x+ela=b) =0 are equal, then a, b, c are in

u[b—c]xz+b[c—ujx+c[ﬂ—.ﬁ-ﬂd‘a:§bm;%ﬁ:&mhn,b,cea: ........ e B Soean,
(1) AP (2) GP (3) HP (4) MNone
so¥ B3 ror 2 oy @3 08 s

24. If (g, ) lies in Il quadrant, then (-g, -2] lies in the which quadrant?
(o, 2) Doty ot ownd’ doff (—a, - 2) Datisy acd Swxa?

1) I (2) I (3) I 4
Ias = s was

25. The quadrilateral formed by the points A(0,-1), B(Z 1), C(0, 3) and D(-2 1) taken in the
same order is

A@Q - 1), BR 1), C(0, 3), D(-2, 1) 53 Sopoam fie sty o

(1) rectangle (2) parallelogram
By vt BATCll BBl

(3) sguare {4) rhombus
SRt o BietgEe

26. If P(3, 4) and Q(7, 7] are two points and FR = 10, where P, Qand K are collinear, then K =
P(3 4), Q7, 7) tebaix PR=10. P, Q, R w bares soss B =
(1) (10, 10 (2) (11, 11) 3) (11, 10) (4) (11, -10)

27.1f (2 1), (1, O) and (4, 3) are three consecutive vertices of a parallelogram, then the fourth

vertex is
-2 1, (L O}, (4, 3) stiss Sopou o SErobl Wstigetos Sk, Tg B0 e
1 23 2 L4 3] 00 @ =23

28B. The slope of the line passing through (2 3] and {4, 7) is
2 3), @, 7) Dotisgess Yesd ooty Tw

m 2 @) g @ 4 @ 1
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29, A joker’s cap is in the form of a right-circular cone whose base radius is 7 cm and height
is 24 cm. The area of the sheet required to make 10 such caps is

[0 T Yool urdhud® & B%5 5% doo), o Ty 7 ol webcie J8y 24 hols. meoded
10 S%uts SRl Soumnd Tl ney vy Sul, Guo, Froge

{1) 550 cm? {2) 5500 em? (3} 55000 cm? [4) Mone

550 notw. 2 5500 =k 2 55000 o5, 2 DA wa

30. A right-circular cylinder has base radius 14 cm and height 21 em. The curved surface area is
LY [ MOy EPSen G, d1F TydEe 14 be.lo. Su8ctin J8g 21 Te.lu. wow® 556w Proge
{1y 1848 cm? 2) 616 cm? (3) 3080 cm? (4) 12936 cm?

1848 ot 616 e.bs? 3080 nedw.? 12936 Bofu.?

31. The volume of the sphere of radius 21 cm is
21 oo, TyRNTRaT fo [RSw oot B S65PrEs
{1y 5544 em?3 (2) 38808 cm? (3) 1155 em? (4) 8983 cm?

5544 el d 38808 nedu’d 1155 oo, ? 8983 Bolu.?

2
32, lfcosA = 13, then sinA =

cosA = % sosss sinA =

a 12 13
@ B 5 @

[0

a s

(4]

gin 3P+ tan45°-cosec 60°
cot45*+cos 60F—sec 30°

(=

{11 o 2 1 {3 -1 @,
34. If tan2A =cot(A - 18*), where 24 iz an acute angle, then A=

tan2A =cot(A — 18%) csossr 2A wefine woass A Dasd

(1) ©&° 2y 18* (3} 36° 4 54°
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35.If x = acosecd and y= beot®, then b?x? —a?y? =

x=acosech, y= beotf eoas b2x? —a?y? =

2 a
) a?4+b2 2) a%p? (3) “2”’2 {4) None (25 zu)
a“ -b

36. tan 30°, tan45°, tan 60° are in
tan 30°, tan45®, tan 60° es @ob 435" E06° &m0
{1l AP 2) GP (3) HP {4) None
wo & Hoea B& o B 98 oo-
37.cos*B-sin* 8=
{1) 1-2sin?e {2) 2sin?8 (3) sec@ {4) cosecB®

38. A boy observes the top of an electric pole at an angle of elevation of 60°, when the ocbservation
point is 8 m away from the foot of the pole. Then the height of the pole is

L ey 1¥ Dl Hegio ol gre Hoed B Duwl Srted” iy Dodad weed Duyd Hegiaw b gy 60°
& Fead® B0MeT. wonh © Jogiin D87
{1 6/3m (2) 83 m (3 1043 m 4] 163 m
63 & 83 & 1043 bs 1643 &
39. Rajender observes a person standing on the ground from a helicopter at an angle of

depression 45°, If the helicopter flies at a height of 50 m from the ground, then the distance
of the person from Rajender is

22 EsEE’ & oot GPlD Wiy o 54D 45° Hefned’ Mo, ¢ris Mool Beyb 50 huy
QB Srstosr dedl, CHeshn, o B Job drted® dwe?

(1) 252 m (2) 5042 m 3 752 m {4) None
252 by S042 2o 7542 B oA s

40. From a ship masthead 150 ft high, the angle of depression of a boat is observed té be 45°.
Its distance from the ship is

150 eovbos Jfio & ef o6 D gidw Sood o¥ BN 45° o Tfmed’ ol 70 Weed zawe e

[k =
150
(1) 150 fe (2) 75 ft 3 15043 ft () 3 ft
J
150 wiEsioos 75 wisites 15043 wiialbas % wtilies
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41. A ladder of 19 m is leaning to a ‘wall making an angle of 60° with the ground. The distance

42,

44,

45.

46.

from the foot of the wall to the foot of the ladder is
19 Sotal Sty fie S3piie 60° Srdf Mok Jobm of Sose wel A Tuwitn o Srbiae?

(1) 18 m (2) 19 m 3) 9m 4) 95 m
18 Ao 19 3 95 &
The probability of getting a head when a cein is tossed once is
¥ PEHG BER0 Jos S G Noind
m o @2 @ ; @ 1
. Rahim takes out all the hearts from a deck of 52 cards. The probability of picking
a diamond is
aieBs ox fa 5T o TmacoTSy oY fo ook Sofodth. mpih ¥ Sieed Damim MeFR
soggs
m L @ @ @
The probability of an impossible event is
e
m o @, @ . @ 1
The arithmetic mean of 12, 15, 13, 20, 25 is

12, 15, 13, 20, 25 o M

n 17 2) 20 3 18 (4) None (26 i)
If 5 is added to each and every item of a data, then the arithmetic mean is
Y gencEand’ W wiy Corts S Sans Sty FY SR Gl Biee Daotid Soncuite G, Wit
(1) 5 times to the first arithmetic mean
50w
(2) increased by 5 to the first arithmetic mean
5 oEys
(3) equal to the first arithmetic mean
e~ =L
(4] None
WD
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47. The median of 24, 20, 32 18 28 16 25 is
24, 20, 32, 18 28 16 25 o Wggdide v

(1} 18 (2) 16 3) 24
48, The median of the following distribution is
-2t ] ﬁ:é! *.‘.u;:;m H - - R —
Class interval 0-9 10-19 20-29 30-39
D esdiiin
Frequency 10 16 24 29
(1) 2375 (2) 23-25 (3) 25125
49, Forthe data 9, 8 7, 7,6 3 7.2, 1 7, 9, the mode is
9877637217 9o dey, oieiic
(1 @ 2y 7 i3 3
50. The medal class of the following distribution is
G 2ol S8Y ook, wEelY BOND
Family size 1-3 | 3-5 | 5-7 | 7-9
Bvopnood | | -
Frequency i 8 2 1
(1 1-3 (2) 3-5 3) 5-7
AD 3
51. In AABRC, DE||BC and an = If AC=5:6 cm, then AE =
AD 3 .
ABC Sttt DE||BCME= 7 AC= 5.6 wcass AE =
A
J'.Iﬁ,.i':r E
/
B’f c
(1) 2 em (2) 21 cm (3) 222 cm
2 wad, 2-1 make, 2:2 Tala,

(4) 32

(4) None (D& o)

4 2

4] None (08 zes)

4) 25 cm
2-5 To.ma.
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52. In a trapezium ABCD, AB||/DC. E and F are points on non-parallel sides AD and BC
respectively such that EF||AE. Then D =

¥ Hlamoe WetpE (Eh#ate) ABCD & AB||DC E mbake F fotspe: wtadv EF||AB eiimes,
mmmmmm,asnaw.m%=..... .........

1) (4] None (D& =&s)

2I3

53. Given that A ABC~A DEF and their areas are 64 cm® and 121 cm® respectively.
If EF=15-4 cm, then BC=

A ABC=a DEF wubdis owd Zooyes Hnm 64 B8ty bolb Sebdbs 121 568 Bolb, sow
EF =15-4 %0.00. wons BC =

1 211 em 2 211 cm 3] 121 em (4) 112 cm

2:11 Tada. 21-1 el 1-21 el 11-2 eda.

54. If BL and CM are the medians of a trangle ABC right angled at 4, then the value of
%(BL? + M%) =

wenS'ra |Bgoeiias ABC 6 bgan A 35 cowfimios Suds. BL mobdbe CM e ADEY Sl Spee woxk
4(BL? +CM?) =

(1 3gc? (2) sBC? {3) 7BC? (4] Bc?

55. If ABD is a triangle right angled at A and AC L BD, then AC? =
ABD ¥ \Dgueitn. 38 A 54 sorsirnm Mo vontie Peoeso weee AC L BD e ACE =

{11 BC-BD (2] BD-CD {3) BC-DC (4] AD-AB
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56. The number of pairs of parallel tangents to a circle is
LE BTN fio SH0 5B Holes Sopg

(1 2 2] 4 h 3 1 . [#) infm-itcly many
(essennon)

57. The length of the tangent to a circle with centre O and radius = 6 cmn from a peint P outside
the circle such that OP = 10 cm is

6 volu, myirgan Mo Gt el fagin 0 wed 10 Relse sroted® ne P oo oeny Deld weed
spmtasas: s pude ey ' !

(1] 6 cm (2) 8 cm (3] 4cm 4) 5 em
6 TeomE B o 4 el 5 ok,

58B. If PAand PBare the lengths of tangents drawn from an external point P to a circle, then
uwm&_mMPMWWwMmemmPﬁwm ............. .

(1} PA=PB (2) PA>PB (3] PA<FB (4) PA=FB

5§9. The area of the sector, whose radius is 7 cm with angle 60° is
7 Do, T, BE00 Sesn 60° LT o HEE BTRES e

(1) 5266 cm? (2) 2566 em? *  [3) 62:56 cm? (4] 6562 cm?
5266 he.bs, 2 2566 Lo, ? 62:56 Jobn,? 6562 oty ?

60. The number of circles passing through three collinear peints.in a plane is

B R gl o S T —

(1} 1 (2) 0 ; B8 - 4 12
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61. Which among the following is an example for condensation?

Bos TS Dofisten Ao

(1) Water converting into ice (2) Wet cloths getting dried
s Bestilr Brbto Bdagos ST elito

(3] Water converting into vapour {4) Formation of dew
s esnBir Srts salrorms Digyitio

62. 127 °C +400K + x = 1000 K. The value of x is
127°C+400K + x = 1000 K. x oot x Dok

(1) 200 K @) 273K (3) 473 K {4 800 K

63, Which among the following materiale has specific heat more than that of ice?

(1) Water (2) Glass (3] M&cu:y {4) Copper
o et Datise oA

64, Which among the following is used by the dentists to see the image?
OO0y WAt 3¢ o6 Jo mnié® A Se?

{1} Convex mirror ' (2) Concave mirror -
e Kthro Sy St

(3) Plane mirror {4) Convex lens
dicbe Dty Bogrard Mo

65. If u and vbe the object and image distances for a spherical mirror, then the magnification is
uhﬂﬁuumuﬁmmmw,pﬂﬂmmmmﬁwﬂﬁaﬂ

(1} ufv = (2} v/u @ -ufu (4) -vfu
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66. The distance between the pole and focal point of a concave mirror is 15 em. The radius of
curvature is

L PPt Stymo @, e Hobats e Bl SRGe 15 el soxd o Biiee Tpde

{1) 1'5 cm 2) 15 cm (3) 30 em 4) 45 cm
15 molo. 15 nebo. ‘ 30 neube, 45 Taba.

67. Read the following two statements and pick the correct answer :
ol Dok MRy DOD SO SPEEo Joiwl'sd:

{a) Real image can be captured on screen.

A Poford; BUR ottty
{b) Virtual image can be captured on screen.
Doy (SODoD B oSy
{1) Both (a) and (b) are true (2) Both (a) and (b) are false
{a) & {b) Dakir A0GED (a) & (b) Doiir B
(3) Only [a) is true (4] Only (b) is true
[2) DogsSs SO0 (b) s oSLS

68. The filament of an electric bulb is usually made of

Db o Sk, Dol s St
(1} copper {2} germanium (3] steel {#) tungsten
oh Hoydieo éstly, welfiss

69. 1 joule/1 coulomb is
1 28 | 1 wrerofi wam

(1} 1 ampere 2] 1 watt {:3] 1 weber (4) 1 wolt
1 webanb 1 ey 126 1 Py
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T0. The drift velocity of electrons in copper wire is about
ol Si® dugive st o

{1) 007 mm/s (2) 07 mm/s (3) 7 mm/s (4) 70 mm/y
007 2.8/, 07 b f 7 230,/ 70 2000/,

71. Three resistors each of value 3 { are connected in parallel combination. Their equivale
resistance is

58 3 Qo ek fio St Moo Marebt togtie ST, P $D6 M6ige

1y 29 20 18 (3 0-33Q2 4] 1-5Q
9 Lew . 1és : 0-33 &o 1-5 Eoen

72. At constant temperature, the ratio of potential difference to current is not constant for t
following

Hod wal6* pu & 55, S0Qc0d Sor wadawe Dixd @I Apd hoow TR0 Do

(1) iron (2} copper

T mhaa oh

{3) Light Emitting Dicde [LED) (4) alumininm
25 ddefl 3AIrE (LED) SePIdio

73. A bulb of resistance 200 0 is connected to a 10 V battery. The power consumption is
200 0 26 ¥ORS Dund maxgis 10V oyobd ¥bint, v IDGPRotEsd Daad oy o

(1 2w 20 20w 3) 05 W {4 005 W
2 des 20 a5 05 o8 0-05 =5

T4. Alemon kept in a glass of water appears to be bigger than its actual size. This is due to
nE e D AIE" Golis Jomdl $SaPre WORKI Benthbiced. Iro

{1} reflection (2) refraction
Sowtmio S
{3) total internal reflection [4) dispersion
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75. If the critical angle is 45°, then the refractive index of the material is
45° oy Sirom 805 15 SOge @y, B Meo
(1) o5 12) 0707 ¥ 1 {4) 1414

6. If i and r be the angles of incidence and refraction respectively, when the light ray travels
from glass to air, then

1 Sobcio 1 oo $6aE%e SeBdio HELS Feccs THET wond modltee me Ml MBS Bdirdelniit
(1) i=r (2) i>r 3 i<r [4) None
535 7y
TT. Parexial rays
M!&m
(1) are perpendicular to the principal axis
BT vonaT aouraw
(2) are very close to the principal axis
EETmod Do ST GotPa
(3) make an angle of 45" to the principal axis
BPrEed 45° Fre S3ox

(4) pass through the principal axis
BFee lor Saireidon

T8, In which one among the following cases, the convex lens does not give a real image?

o8 D Sonthel merms sutio D BEoDorD) Dt

{1) When the object is placed between the focal point and optic centre
WD D Seloias i Boe Bogy doliipis

(2] When the object is placed beyond the centre of curvature
SEpD Seio Sofic wlio SolNiHo

(3] When the object is placed between the centre of curvature and focal point
S50 SEodoio Mol T Bolish Aol

(4) When the object is placed on the centre of curvature
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79. Irrespective of the position of the object on the principal axis, a concave lens gives an ima
of nature

SRS Sermd %ot Ao, EEREST U S 55D dolvr, Db BoDow i

{1) real, inverted {2} real, erected
Bodabiour, e Ry DERPI, S

(3) virtual, inverted (4) wirtual, erected
Bodatizol, Jogry R JeaRpr, D

80. If a convex lens has its object and image distances equal (say x|, the focal length is equal to
:J!mﬂ!lﬁnﬁﬁjﬁ:ﬂﬁn@&hmd?ﬁ:%(xlﬁuﬁ),mm

1 = 2 x/2 3) 2/x 4 o

B81. Which part of the human eye helps the eye lens to change its focal length?
Noad Gk, D I ¥od Nio¥ SeRoBoNy BAnSHORE SHGLtteen?

(1) Retina (2) Pupil
T e Eoaddms
(3) Cillary muscle (4) Cornea

BBoird sobitie b

B2. For any position of an object in front of the human 'r:ye, the imege distance is fixed a
BREHD Nod Mootic D o N PR B Sihets e R HOhce RGNS

(1] 1 em (2) 15 em (3) 25 em (4} 025 em’
1 Bebds, 1'5 wefo. 2:5 ol 025 =edn,

83. To correct -unc'a hypermetropia defect, the type of lens used is
Byt Shsion MopEmants TE) S

(1} biconvex (2) biconcave
» . 5

(3} concavo-convex (4) plancconcave
DYool ot LI ]
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84. Read the following two statements and pick the correct answer :

(Bo0 Dot Troveito GO NOALS SN Jeteled:

{a) Red colour light has low refractive index.

Statisih Tod dlask), SIEEEN fomle BiS

(b) Red colour light undergoes low deviation.
Stiagtiers Tod Sk, Do BiyD

(1} Both (a) and (b) are frue (2) Both (a) and (b) are false
(a] & (b) Detr 260D (a) & (b) Dot B33

(3] Only (a) is true (4) Only (b} is true
(a) worpts S080 (b} soms 3O

85. Scattering of light involves the process of
Tod SEEBeRNE: Sopcdoli S

(1) bending of light at the interface of two media
Dt cisPete S0da Ses B8 Fodline Berite

{2) splitting of light into different colours
Tod Dogs Uolbeam D20

{3) convergence of light rays at the focus
Ted dteres B 3 Tobfise THie

(4) re-emission of absorbed light
Frouosy 5085 S8) Fob gis dopto Soitio

86. According to Faraday's law, the induced EMF produced in a closed loop is equal to the
e Dotsiton [Brte, £ Secked® Dy (388 DaSoer metios B03 Mo

(1} magnetic fux (2) change of magnetic flux
el o simire el ot whTmsd® srty

{3) rate of change of magnetic flux (4) cross-sectional area of the loop
sci¥ed whmred® nrty o Sty ooty Sl P
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87. If Bis the magnetic flux density and A is the area of the plane, then the mngn 16 a |
given by
B oabhdnolh oo ot S:0din A Boo Gt Prosies cod wdeded ofiaire
(1) AB (2) BfA (3 A/B 4 A%n

88. A conductor is moving with a speed of 10 m/s perpendicular to the ducclion of mapnet|
field of induction 0-5 T. If the induced EMF is 5 V, then the length of the eondin o in
05 T [Boes e wcdmes Fons sonem 10 B, /%. 586 a8 Tihto Slocattiully s (W00 Ma," 6
wod e TERSo I

(1) 025 m (2) 001 m (3) 4m 4 1 m
0-25 o, 001 2. 4 o, 1 2o

89. A metal ring is inserted through the soft iron cylinder which is wounded with copper wirt
When DC is supplied between the ends of the coil, then
2000 s’ sapielts ¥ frdwoy Sk o St SdTio, oRE u Gy Dofiit wilel), Diw
Dlizgtizvio [SH0oRIuSHEs
(1) the metal ring is levitated on the coil and stays there
&g Lol 18 8D P dowwod
(2) the metal ring is levitated and falls down immediately
G Dol 12 8D Dowid Bobss 3AKG0
(3) the metal ring rotates round the cylinder at the same position
S5y Bolts B Pos’ Hpde Tond StblbBood
(4) None

=0y

90. A charge g is moving with a velocity v in magnetic field of induction B. Il the magnetic for
acting on charge g is equal to guB, then
B (6 fie wabimot ped’, g Suaoiis, v 3ol sowsaps, g B s03cin wdhdnob vwo quBb ound
(1) g is moving parallel to B
q s B % Surotton &g
(2) g is moving perpendicular to B
q NSodites B B sowc™ G50
(3) g is moving at an angle of 45° to B
g rissse B3 45° Frod’ end
(4) gq is stationary
q oo &30
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SECTION—III CHEMISTRY

91. The chemical formula of marble is
B o Bor Srtnd 5 dw, sios oiomsa

(1] CaCO, (2) Ca(OH), (3] CaO (4) CaHCO,),

92. NaCl + AgNO3 — AgCl | +NaNO, is an example for
NaCl=+ AgNO; — AgCll + NaNO 3 wib 5t 803 &otrtin?

(1) chemica! combination (2] chemical decomposition
Ercis SedliFinw Urpdisd SAFmD

{3) displacement reaction (4 double displacement reaction
Grol SRigieRi TRCidn Beotly AP0

93. Coating the iron metal surface with a thin layer of zinc to protect the rusting of iron is called
otas Bupiyeme gReR Bisped 208 gro wrlh 3560 Dhed beadwo?

(1) greasing (2) galvanizing
e st

{3) tinning (4) electroplating
Sl g heeh

94. xNa + yHy;0 — 2NaOH + Hy. In this balanced equation, the x, y values respectively are
xNa + yHoO — 2NaOH + Hy wiis Beay shatitmius® x, i Dodbes Htiye

i 11 2 2,1 3 1,2 i4) 2,2

95. Which of the following solutions converts red litraus paper to blue?
&1 jfod Pocmnes” DO X Seup bitume SToem BRt0?

(1) Hal (2) HNOg (3) NaOH (4] None
& ms
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96. Which of the following salt solutions has pH greater than seven?
&@wﬁmwmpummwmpwawmv
(1) CH3COOH 2) NH,Cl (3) NacCl (4) CH;COONa

97. Match the following
4 (320 TI0 mESed @
(a) Caustic soda {ii MNaHCOg4
=i P
(b) Baking soda {iiy CaS0,-2H,0
3k Mo
c) Gypsum (ilij CaSOq "};H20
@i
{d) Plaster of Paris (iv) NaOH
236 o 205
11 (@) (b) () (d)
(i) (i) (iif) (iv)
2) la) (bj (c) (d)
(i) (i) (idi) (i)
(3 (@ (b) {c) (d)
(iv) (1] (iii) i)
4 (@ (b (el (d)
(iv) ] (ii) (i)
98. HC1+H,0 — X +C17. The X may be
HCl +H,0 = X +C1” &0 shostemaed® X D6 wow dotiHnyie?

R
{1} Hz0* 2) OH (3) HOCI (4) H,0

99, The maximum number of electrons accommodated in a subshell with azimuthal quar
number [ is

Sesond ot Sop; 11T o asons’ Hogem wlsthio JogRon Bovy
(1) 20+1 (2) H+2 @) W+n 4 4l-1
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100. The four quantum numbers for valence electron of sodium atom are

Moo WEAPeNT oy Dull JuZio Teoll Sogpees BT

) n=L1=0m=0s=1/2 2)

3 n=3 =0, m=0,s=1/2 (4)

101. Degenerate orbitals have
0083 esOyernd [ meddin n Sedleo D HENw doeron?

(1) =ame [ value and same n value
e3 [ Deutd Solce e n Dewd

(2) different [ value and same n value
Stadns | Deoid Holcio 13 n Ded

(3) same [ value and different n value
vE | Seod Sobone Susits n Sesw

(4] same [n+]) value
w3 (n+ ) Do

n=21=0m=0 s=1/2

n=3I=1,m=0s=1/2

102. Which pair of elements fits into same slot in Newlands' table of elements?

Brgrel, Tarope 506" D mow mupumuis o2 T S0 23 Ra wogpmon?

) FQ (2) Co, Ni (3) Mg, Ca [4) C, si

103. As per the modern penodic law, the properties of the elements are periodic functions of thewr

DD G DA R, SrePe SR B0 o,

{1} atomic weights (2)
BEATCL R

{3) atomic numbers 4)
Eohare :-&oa&s

104, Elements of which group are called halogens?
D girb Sarorets Héteioe el boadth?
(1) VA 2) VIA (3)

e [Slodires?
mass numbers
EaErE oy

valences

Sebe

WVIIA (4) Iva
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105. Which of the following elements has larger atomic size?
£ 2ol T35 08 ol SEhPen P doiuod?

(1) Na (2) Mg (3) Ca 4 K

106. The correct order of electronegativity in the following elements is
s fol Soruro EHERS pOINETSE Bn Ia?

(1) F>Cl>0 2y F>0>Cl (3) O>F>=0Q 4 Cl>F>0

107. The ionic bond forms easily between which groups of elements?
D Bods {17y Baruse Holy iFDY noo S0ET Dtabeel?

(1) IA and VIIA (2) A and VA (3) 1A and VA (4) 1IA and VIA

108. Which of the following is a covalent compound?
G (god T DB ENedireldl Mhossio?

(1) HNaCl (2) NHj (3) MaCl, 4} LiF

109, The bond angle in BF, molecule is

BF, eecpd® wotEienses

(1) 120° (2) 180° (3) 109728 (4) 104"

110. The 7t bond is not found in

Ee 200 08" E08° n wofinos dctito?
(1) CsH4 @) Oy (3) Ng [4) Hy0
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111. The type of hybridization in CHy molecule is
CH, eeains® =0 BosBitieisy Dao

(1) sp (2) sp? @ sp® @) spid

112. The ore Fe 30, is called
Fe 30, ool A0 boodi?

(1) magnetite (2) magnesite (3] haematite (4} pyvrolusite
4
SRS aipnd wisapSs e

113. 2ZnS + 30,5 —2Zn0~280,. This reaction is an example for
2ZnS +30; —2Zn0 +250, & Sy BN aoirtes wipeed?

(1) smelting [2) calcination (3) reduction (4) roasting

iR e

114, Which of the following processes is not suitable for refining of metals?

B+ (308 sgBoed® DO Firten: B Soonls @S 803 oNs?

(1} Poling (2] Distillation
ol oty

(3) Electrolytic refining (4) Froth floatation
58 iy W Fo% o

115. Which of the following is a saturated hydrocarbon?
B Pl TBE° D welyy st
(1) CaHy (2) CgHj (3) C3Hg (4) CaHg

SPACE FOR ROUGH WORK [ DHgsif Seronoiinds pobn



116, CH;—NH—CH5 is known as
CH;—NH—CH, 0 30 Sessef™ 359807

{1} primary amine [2) tertary amine
(ol XS 8gad 255

(3) secondary amine (4) quaternary ammonium salt
ososf J2ed mgod wRmpciie vl

117. The IUPAC name of the compound CHy—CH=CH=CH, is
CHy—CH=CH=CH, wil: Siasasuitts [UPAC wastis

{1} but-3-ene-1l-yne {2) buta-1,2-diene
erS3-5- 126 wPer-1,2-Boarl

{3) buta-2,3-diene (4} buta diene
erp-2,3-3axs PP oD

118. Which of the following substituted products is not formed when methane reacts with
chlorine in sunlight?

DS wregs, stoged® Fo58 uty e0biints e Boh P38’ D BIESD e Msso?

(1} Chloroform (2) Carbon tetrachloride
g, TS SERE

(3) Methylene chloride (4) Ethyl chloride
20655 £ 25 ok

119. The process of conversion of starch and sugar into ethanol by using enzymes is called as
SoRfoviny GREPRET Bod Dobdin SUDE SogEnoly 3PE e Brdy SEON Dooui?

(1} fermentation (2] esterification
ey oo piEsS
(3) carbonization [4) pyrolysis
oiRdss ]
120. The general formula of ester is
HE Smy dores Peopr
1] R—0—R (2) R—CO—R (3] R—COOR (#) R—CHO

LB B

SPACE FOR ROUGH WORK / Ou;308 Sarcasiinds doin



